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WA :20254E6 H21H (+)~6H22H (H)
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B K £ T B 2E KK icE
L/l Ak 5 R =] =3 12/ 4 26. 30 10:%
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2 R H BRPER =] =3 12/ 3 27.18 9%
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3 BEARTR I T PE R =] =2 12/ 5 27.39 9%
Kk
4 F 2 75 . 5 ml12/ 6 28.19 81k
2 Yo
5 g B Xk s =2 11/ 4 28.33 8k
K Yk
6 M T XI5 =3 11/ 6 28.55 8k
EZGUS/N LE)C=tE mlo12/ 7 28. 81 8k
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8 W KA [N =l 12/ 2 28. 86 8k
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9 2% H GBS [oi] 15 78 s =2 11/ 5 29. 11 Tk
Kk
10 8y A4 S 5 =2 10/ 2 29. 38 Tk
T Yk
11 g EH Faflele= =2 11/ 3 29. 49 Tk
12 Kot WEH BHE =a| 9/ 6 29. 83 6%
13 g fE XAk =3 10/ 5 29. 94 6%
14 JRE B3 —h 2 11/ 2 29.99 6%
IBRANEE 3 [of] %5 AL v =1 10/ 6 30. 22 6:5%
16 ¥y SR [l = ml o 10/ 7 30. 35 6%
17 i 2wk o 15 AL v =2 9/ 7 30.45 «FH 6%
18 /Nl Fozs B =3 9/ 5 30.55 5k
19 &9 & Hrd & =3 10/ 4 30.97 5k
20 KM #ER NS =l 11/7 30. 98 5%
21 =8 Ak FIRVAT 53 8/ 6 31.27 45%
22 Wi = B R =1 8/ 5 31. 31 5k
23 TEE kK [ WY P 5 =110/ 3 31.39 55%
24 I BRI pAIFS o= =% 9/ 3 31. 49 5%
25 fEA EE TN 5 il 9/ 4 31. 54 45k
26 HE  BEEL FNNT 5 =3 7/ 4 31.70 45%
27 H eI&AENR (i)=Y = =3 8/ 7 32.26 3k
28 AH  Fj¥ B =) 7/ 5 32.88 3k
29 A FEJY LR 53 8/ 3 33.28 25
30 . H¥E RS 3 8/ 2 33.29 2%
31 ZWE 1B BHE =2 6/ 2 33.48 25
32 MIFESRT B HAbE =2 8/ 4 33. 65 25%
33 JIE &A1 FNNT BE 52 6/ 4 33. 68 2%
34 BlE EE B = 5/ 5 34.02 2%
35 M E A & =2 6/ 3 34.19 1%
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37 fEEE KA [ 175 A =3 6/ 5 34.50
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50 HHT KXk AR El 1/ 5 39. 89
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59 Il K3 ZHTE il 1/ 3 45.76
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